4. 3%, >1

. 1949howrs=" pm.
I3efe

. 75+57=
L] true [] false

. This is the net of a

6a-
. Write these numbers from largest to smallest.
B4 905 46 905 64 059

L 300x9=

L0202 hours = am/pm.
. Shovy_a 90° turn clockwise.

-
. Tick the composite number: [ 127 [123 [.119

0kg= g

L0+ =130

. 1,2,3,4,6 and 12 are factors of 12.
Ll trve [ false

.08, 16,20

. Thisis a;

triangular prism.

rectangular pyramid.

triangular pyramid.

. Is 9amultiple of 27
. What is the perimeter?

m

. 3"/, ={improper fraction) -

. Write the temperature negative 10. . * - -

1425howrs= o pm.

L 182+217=
3. Tick the composite number: 17 [177 [ 14
< L true U false

. What is the lowest composite number?
. 5'/, ={improper fraction) e -
. 200x10=

. 400, 800, 500, 900, 600,
. This 2-D shape is a

. 1300 1333 true L1 false

12. 0955 hours = am/p.m.

13. 35km=""" “im

The chance of rolling the following /®

o (o6
numbers on a die is: ) °

5= i

15. An even number = in 5'1_:'-:"'5'

16. A number lower than b = i

17. An odd number higher than 2=~ .
18 Adorabe i

1955+ =110

20. How many horizontal :
lings in a regular pentagon? “ -




